ASSEMBLY INSTRUCTIONS
0T0263429 MODEL : OTAGO DINING TABLE

Bolt M8 X 50

"

X12

Ring Small

Bolt M8 X 50 + Ring Small : 12 Pcs




070263430

ASSEMBLY INSTRUCTIONS

MODEL : OTAGO DINING TABLE

Bolt M8 X 50

~

X12

Ring Small

Bolt M8 X 50 + Ring Small : 12 Pcs




MODEL : OTAGO CONSOLE

ASSEMBLY INSTRUCTIONS

0T0263431

Bolt M8 X 50
Ring Small

Bolt M8 X 50 + Ring Small : 8 Pcs




	FB 002 OZ
	FB 004 OZ
	FB 151 OZ

